MAT 135, Discussion Que

1. InlJuly, PPP polle

stions 4.08

d 1072 Michigan residents about the support for LGBT employment rights: 68%

support a law mﬁking it illegal to fire or deny housing in Michigan because someone is gay,
leshian, or transgender. What is the standard deviation of this sampling distribution?
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2. In March, PPP po

lled 691 Americans and asked them which was the better book: To Kill a

Mockingbird or Af’fty Shades of Gray. 63% said To Kill a Mockingbird was better. What is the
standard deviation for this sampling distribution?
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3499 people in August to determine if there was public support for

's in school. They found that 78% reported “No”. What is the probability that a
icans actually support standardized tests? (i.e. what is the probability that this
ed from a distribution with a mean of 50% or lower.)

—

o (-7 €5, [ 2] - 0

ith proportions, how does the Central Limit Theorem relate to the Law of Large
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5. On the blank graph below, plot the sampling distribution of a proportion centered at p = .80 for
a sample size of n = 300.
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6. Graph the sampli|ng distribution of the proportion centered at p = 0.4 with a sample size of n =

1402. Find the p
part of the graph

represented by this probability.
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robability that the sample proportion will be less than p = 0.36. Shade the
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